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Basic Linear Functions

2(x - 3) = y + 1 2x + x = 4(y - 1)

Fill in the blank. What are the slopes of these linear 
functions?

Complete the table for this linear function. Graph the function from problem 3

Does this line have a positive or a negative 
slope?  

What is the slope of this line?

Find the slope and y-intercept of this linear 
function. 
(Hint: rearrange into y = mx + b form.)

Find the slope and y-intercept of this linear 
function. 
(Hint: rearrange into y = mx + b form.)

In the equation y = mx + b, 
‘m’ is the 

and ‘b’ is the .

of the line y = 4x − 3

Input
y = 2x − 3

x

2
5

1
0

-2

y
Output

y =      x-1
3

y = 2
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Basic Linear Functions

2(x - 3) = y + 1 2x + x = 4(y - 1)

Fill in the blank. What are the slopes of these linear 
functions?

Complete the table for this linear function. Graph the function from problem 3

Does this line have a positive or a negative 
slope?  

What is the slope of this line?

Find the slope and y-intercept of this linear 
function. 
(Hint: rearrange into y = mx + b form.)

Find the slope and y-intercept of this linear 
function. 
(Hint: rearrange into y = mx + b form.)

In the equation y = mx + b, 
‘m’ is the 

and ‘b’ is the .

of the line y = 4x − 3

Input
y = 2x − 3

x

2
5

1
0

-2

y
Output

y =      x-1
3

y = 2

See Video for step-by-step  
solutions to each problem.

slope
y-intercept

1

Negative

Zero

-3
-1

-7

2x - 6 = y + 1 3x = 4(y - 1)

x = y - 1

y =    x + 1

2x - 7 = y
or   y = 2x - 7

- 1

+ 1+ 1

44- 1

4

3

4

-1

3

4
3

4
3

7

Slope = 2 Slope =
y-intercept = -7 y-intercept = 1
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Graphing Linear Functions
Instructions:  Graph each linear function on the coordinate plane.  (Hint: you only need to plot two 
points to graph the line.  Then you can use a ruler to draw a straight line through those two points.)

1

3

5

AB-BLF 1

y = -2x + 3

y = -1x + 2

y = 4x − 4

y = 1x + 2

y = -x − 2

y =     + 3

2

4

6

10

1

-1
-1

-2

-2

-3

-3

-4

-4

-5

-5

2
3
4
5

2 3 4 5

10

1

-1
-1

-2

-2

-3

-3

-4

-4

-5

-5

2
3
4
5

2 3 4 5

10

1

-1
-1

-2

-2

-3

-3

-4

-4

-5

-5

2
3
4
5

2 3 4 5

(0, 3)

Plot any 
two points

(2, -1)

x
2
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-1
-1

-2
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-3
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-4
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-5

-5

2
3
4
5

2 3 4 5

10

1

-1
-1

-2

-2

-3

-3

-4

-4

-5

-5

2
3
4
5

2 3 4 510

1

-1
-1

-2

-2

-3

-3

-4

-4

-5

-5

2
3
4
5

2 3 4 5

10

1

-1
-1

-2

-2

-3

-3

-4

-4

-5

-5

2
3
4
5

2 3 4 510

1

-1
-1

-2

-2

-3

-3

-4

-4

-5

-5

2
3
4
5

2 3 4 5

Slope & y-intercept (Graphs)
Instructions:  Determine the slope and y-intercept of each linear function below.

1

AB-BLF 2

y = -x − 2 y = 1x + 3

y = -5xy =      − 1

y = x + 2.5y = 2.5

2

43

65

-2-1Slope: Slope:

Slope:Slope:

Slope:Slope:

y-intercept: y-intercept:

y-intercept:y-intercept:

y-intercept:y-intercept:

x
3
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1
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5
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1
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2
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Graphing Linear Functions - Set 2
Instructions:  Graph each linear functions AND determine its slope and y-intercept.

1

AB-BLF 3

y = 3x + 1

y = y = x  +  

y = -     + 2

y = -6x + 6y = 0.5x − 2

2

43

65

Slope: Slope:

Slope:Slope:

Slope:Slope:

y-intercept: y-intercept:

y-intercept:y-intercept:

y-intercept:y-intercept:

1
2

x
4

x
2

- 1
2 2
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Slope-Intercept Form
Instructions:  Determine the slope and y-intercept of each linear function below.  If the equation is 
not in “Slope-Intercept Form”, then rearrange it so it is.

AB-BLF 4

1 y = 4x + 7

7

4
Slope:

y-intercept:

3 y − 1 = -2x Slope:

y-intercept:

5 y = 7 − 3x Slope:

y-intercept:

7 5 + y = 1 + 2x Slope:

y-intercept:

10 y + x = 3 + x Slope:

y-intercept:

4 y = -x Slope:

y-intercept:

2 y + 2 = 5x

-2

5
Slope:

y-intercept:

−2

y = 5x - 2

−2

6 = x Slope:

y-intercept:

y
2

9 =  x + 1 Slope:

y-intercept:

y
2

8 = Slope:

y-intercept:

y
3

x
6
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Converting to Slope-Intercept Form
Instructions:  Convert each linear function into “Slope-Intercept Form” (y = mx + b).

AB-BLF 5

1

3

5 6

7 8

2

4

−4x −4x +x+x
y2y = -4x + 8  =  (5x − 6)(2)

y = 10x − 12y = -2x + 4

2
(2)

2 2 2

4x + 2y = 8

3y = 3 − 6x -2y = 6 − 1x

 = 4x − 6

− 4 = y + 3 = − 2y

− x

2(y − 3) = x + 10 (y − 3) = 4(x − 1)

y
2

x
3

x
5

y
2
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Graphing Linear Functions
Instructions:  Graph each linear function on the coordinate plane.  (Hint: you only need to plot two 
points to graph the line.  Then you can use a ruler to draw a straight line through those two points.)

1

3

5

AB-BLF 1

y = -2x + 3

y = -1x + 2

y = 4x − 4

y = 1x + 2

y = -x − 2

y =     + 3

2

4

6

10

1

-1
-1

-2

-2

-3

-3

-4

-4

-5

-5

2
3
4
5

2 3 4 5

10

1

-1
-1
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-3

-3

-4

-4

-5

-5

2
3
4
5

2 3 4 5

10

1

-1
-1

-2

-2

-3

-3

-4

-4

-5

-5

2
3
4
5

2 3 4 5

(0, 3)

Plot any 
two points

(2, -1)

x
2
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Slope & y-intercept (Graphs)
Instructions:  Determine the slope and y-intercept of each linear function below.

1

AB-BLF 2

y = -x − 2 y = 1x + 3

y = -5xy =      − 1

y = x + 2.5y = 2.5

2

43

65

-2-1Slope: Slope:

Slope:Slope:

Slope:Slope:

y-intercept: y-intercept:

y-intercept:y-intercept:

y-intercept:y-intercept:

x
3

3

0-1

2.52.5

1

-5

10

1
3
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Graphing Linear Functions - Set 2
Instructions:  Graph each linear functions AND determine its slope and y-intercept.

1

AB-BLF 3

y = 3x + 1

y = y = x  +  

y = -     + 2

y = -6x + 6y = 0.5x − 2

2

43

65

Slope: Slope:

Slope:Slope:

Slope:Slope:

y-intercept: y-intercept:

y-intercept:y-intercept:

y-intercept:y-intercept:

1
2

x
4

x
2

- 1
2 2 1

6-2

3

1

-60.5

1
4

1
20
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Slope-Intercept Form
Instructions:  Determine the slope and y-intercept of each linear function below.  If the equation is 
not in “Slope-Intercept Form”, then rearrange it so it is.

AB-BLF 4

1 y = 4x + 7

7

4
Slope:

y-intercept:

3 y − 1 = -2x Slope:

y-intercept:

5 y = 7 − 3x Slope:

y-intercept:

7 5 + y = 1 + 2x Slope:

y-intercept:

10 y + x = 3 + x Slope:

y-intercept:

4 y = -x Slope:

y-intercept:

2 y + 2 = 5x

-2

5
Slope:

y-intercept:

−2

y = 5x - 2

−2

6 = x Slope:

y-intercept:

y
2

9 =  x + 1 Slope:

y-intercept:

y
2

8 = Slope:

y-intercept:

y
3

x
6

7

-3
y = -3x + 7

-4

2-5 -5

y = 2x - 4

3

0

y = (0x) + 3

-x -x

0

-1
y = -1x + 0

0

2
y = 2x + 0

(2)(2)

2

2
y = 2x + 2

(         )(2)(2)

1

-2+1

y = -2x + 1

+1

0

1/2

y =    x + 0

(3) (3)

1
2



© 2017 Math Plus Motion, LLC

®

Date:

Name:

Basic Linear Functions • mathantics.com

Converting to Slope-Intercept Form
Instructions:  Convert each linear function into “Slope-Intercept Form” (y = mx + b).

AB-BLF 5

1

3

5 6

7 8

2

4

−4x −4x +x+x
y2y = -4x + 8  =  (5x − 6)(2)

y = 10x − 12y = -2x + 4

2
(2)

2 2 2

4x + 2y = 8

3y = 3 − 6x -2y = 6 − 1x

 = 4x − 6

− 4 = y + 3 = − 2y

− x

2(y − 3) = x + 10 (y − 3) = 4(x − 1)

y
2

x
3

x
5

y
2

y - 3 = 

y = 

+ 5

+ 8

+ 3 + 3

2
+3 +3

2 2

3

(2) (2)

-2

+4 +4 + 2y+ 2y

-2 -23 3
y = 1 - 2x

y =       + 8 y + 1  =

y = - 1

y = -3 + 

(3y + 3) =

y = -2x + 1

y - 3 = 4x - 4

y = 4x - 1

y =        - 3

1
2

x

2
3

x
1

15
x

1
15

x

1
3

1
3

1
5

x

1
2

x

1
2

x

y x
2 3( () )= + 4

1
2

x
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Basic Linear Functions

2(x - 3) = y + 1 2x + x = 4(y - 1)

Fill in the blank. What are the slopes of these linear 
functions?

Complete the table for this linear function. Graph the function from problem 3

Does this line have a positive or a negative 
slope?  

What is the slope of this line?

Find the slope and y-intercept of this linear 
function. 
(Hint: rearrange into y = mx + b form.)

Find the slope and y-intercept of this linear 
function. 
(Hint: rearrange into y = mx + b form.)

In the equation y = mx + b, 
‘m’ is the 

and ‘b’ is the .

of the line y = 4x − 3

Input
y = 2x − 3

x

2
5

1
0

-2

y
Output

y =      x-1
3

y = 2

See Video for step-by-step  
solutions to each problem.

slope
y-intercept

1

Negative

Zero

-3
-1

-7

2x - 6 = y + 1 3x = 4(y - 1)

x = y - 1

y =    x + 1

2x - 7 = y
or   y = 2x - 7

- 1

+ 1+ 1

44- 1

4

3

4

-1

3

4
3

4
3

7

Slope = 2 Slope =
y-intercept = -7 y-intercept = 1
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Basic Linear Functions

2(x - 3) = y + 1 2x + x = 4(y - 1)

Fill in the blank. What are the slopes of these linear 
functions?

Complete the table for this linear function. Graph the function from problem 3

Does this line have a positive or a negative 
slope?  

What is the slope of this line?

Find the slope and y-intercept of this linear 
function. 
(Hint: rearrange into y = mx + b form.)

Find the slope and y-intercept of this linear 
function. 
(Hint: rearrange into y = mx + b form.)

In the equation y = mx + b, 
‘m’ is the 

and ‘b’ is the .

of the line y = 4x − 3

Input
y = 2x − 3

x

2
5

1
0

-2

y
Output

y =      x-1
3

y = 2
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10

1

-1
-1

-2

-2
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-5

2
3
4
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1

-1
-1
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Graphing Linear Functions
Instructions:  Graph each linear function on the coordinate plane.  (Hint: you only need to plot two 
points to graph the line.  Then you can use a ruler to draw a straight line through those two points.)

1

3

5

AB-BLF 1

y = -2x + 3

y = -1x + 2

y = 4x − 4

y = 1x + 2

y = -x − 2

y =     + 3

2

4

6

10

1

-1
-1

-2

-2

-3

-3

-4

-4

-5

-5

2
3
4
5

2 3 4 5

10

1

-1
-1

-2

-2

-3

-3

-4

-4

-5

-5

2
3
4
5

2 3 4 5

10

1

-1
-1

-2

-2

-3

-3

-4

-4

-5

-5

2
3
4
5

2 3 4 5

(0, 3)

Plot any 
two points

(2, -1)

x
2
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-1
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-5

2
3
4
5

2 3 4 5

Slope & y-intercept (Graphs)
Instructions:  Determine the slope and y-intercept of each linear function below.

1

AB-BLF 2

y = -x − 2 y = 1x + 3

y = -5xy =      − 1

y = x + 2.5y = 2.5

2

43

65

-2-1Slope: Slope:

Slope:Slope:

Slope:Slope:

y-intercept: y-intercept:

y-intercept:y-intercept:

y-intercept:y-intercept:

x
3

3

0-1

2.52.5

1

-5

10

1
3
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Graphing Linear Functions - Set 2
Instructions:  Graph each linear functions AND determine its slope and y-intercept.

1

AB-BLF 3

y = 3x + 1

y = y = x  +  

y = -     + 2

y = -6x + 6y = 0.5x − 2

2

43

65

Slope: Slope:

Slope:Slope:

Slope:Slope:

y-intercept: y-intercept:

y-intercept:y-intercept:

y-intercept:y-intercept:

1
2

x
4

x
2

- 1
2 2 1

6-2

3

1

-60.5

1
4

1
20
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Slope-Intercept Form
Instructions:  Determine the slope and y-intercept of each linear function below.  If the equation is 
not in “Slope-Intercept Form”, then rearrange it so it is.

AB-BLF 4

1 y = 4x + 7

7

4
Slope:

y-intercept:

3 y − 1 = -2x Slope:

y-intercept:

5 y = 7 − 3x Slope:

y-intercept:

7 5 + y = 1 + 2x Slope:

y-intercept:

10 y + x = 3 + x Slope:

y-intercept:

4 y = -x Slope:

y-intercept:

2 y + 2 = 5x

-2

5
Slope:

y-intercept:

−2

y = 5x - 2

−2

6 = x Slope:

y-intercept:

y
2

9 =  x + 1 Slope:

y-intercept:

y
2

8 = Slope:

y-intercept:

y
3

x
6

7

-3
y = -3x + 7

-4

2-5 -5

y = 2x - 4

3

0

y = (0x) + 3

-x -x

0

-1
y = -1x + 0

0

2
y = 2x + 0

(2)(2)

2

2
y = 2x + 2

(         )(2)(2)

1

-2+1

y = -2x + 1

+1

0

1/2

y =    x + 0

(3) (3)

1
2
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Converting to Slope-Intercept Form
Instructions:  Convert each linear function into “Slope-Intercept Form” (y = mx + b).

AB-BLF 5

1

3

5 6

7 8

2

4

−4x −4x +x+x
y2y = -4x + 8  =  (5x − 6)(2)

y = 10x − 12y = -2x + 4

2
(2)

2 2 2

4x + 2y = 8

3y = 3 − 6x -2y = 6 − 1x

 = 4x − 6

− 4 = y + 3 = − 2y

− x

2(y − 3) = x + 10 (y − 3) = 4(x − 1)

y
2

x
3

x
5

y
2

y - 3 = 

y = 

+ 5

+ 8

+ 3 + 3

2
+3 +3

2 2

3

(2) (2)

-2

+4 +4 + 2y+ 2y

-2 -23 3
y = 1 - 2x

y =       + 8 y + 1  =

y = - 1

y = -3 + 

(3y + 3) =

y = -2x + 1

y - 3 = 4x - 4

y = 4x - 1

y =        - 3

1
2

x

2
3

x
1

15
x

1
15

x

1
3

1
3

1
5

x

1
2

x

1
2

x

y x
2 3( () )= + 4

1
2

x
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10

1

-1
-1

-2

-2

-3

-3

-4

-4

-5

-5

2
3
4
5

2 3 4 5

10

1

-1
-1

-2

-2

-3

-3

-4

-4

-5

-5

2
3
4
5

2 3 4 5

10

1

-1
-1

-2

-2

-3

-3

-4

-4

-5

-5

2
3
4
5

2 3 4 5

Graphing Linear Functions
Instructions:  Graph each linear function on the coordinate plane.  (Hint: you only need to plot two 
points to graph the line.  Then you can use a ruler to draw a straight line through those two points.)

1

3

5

AB-BLF 1

y = -2x + 3

y = -1x + 2

y = 4x − 4

y = 1x + 2

y = -x − 2

y =     + 3

2

4

6

10

1

-1
-1

-2

-2

-3

-3

-4

-4

-5

-5

2
3
4
5

2 3 4 5

10

1

-1
-1

-2

-2

-3

-3

-4

-4

-5

-5

2
3
4
5

2 3 4 5

10

1

-1
-1

-2

-2

-3

-3

-4

-4

-5

-5

2
3
4
5

2 3 4 5

(0, 3)

Plot any 
two points

(2, -1)

x
2
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10

1

-1
-1

-2

-2

-3

-3

-4

-4

-5

-5

2
3
4
5

2 3 4 5 10

1

-1
-1

-2

-2

-3

-3

-4

-4

-5

-5

2
3
4
5

2 3 4 5

10

1

-1
-1

-2
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-3

-3

-4

-4

-5

-5

2
3
4
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1

-1
-1

-2

-2

-3

-3

-4

-4

-5

-5

2
3
4
5

2 3 4 5

10

1

-1
-1

-2

-2

-3

-3

-4

-4

-5

-5

2
3
4
5

2 3 4 510

1

-1
-1

-2

-2

-3

-3

-4

-4

-5

-5

2
3
4
5

2 3 4 5

Slope & y-intercept (Graphs)
Instructions:  Determine the slope and y-intercept of each linear function below.

1

AB-BLF 2

y = -x − 2 y = 1x + 3

y = -5xy =      − 1

y = x + 2.5y = 2.5

2

43

65

-2-1Slope: Slope:

Slope:Slope:

Slope:Slope:

y-intercept: y-intercept:

y-intercept:y-intercept:

y-intercept:y-intercept:

x
3
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10

1
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2
3
4
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1

-1
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-4
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2
3
4
5

2 3 4 5
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1
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Graphing Linear Functions - Set 2
Instructions:  Graph each linear functions AND determine its slope and y-intercept.

1

AB-BLF 3

y = 3x + 1

y = y = x  +  

y = -     + 2

y = -6x + 6y = 0.5x − 2

2

43

65

Slope: Slope:

Slope:Slope:

Slope:Slope:

y-intercept: y-intercept:

y-intercept:y-intercept:

y-intercept:y-intercept:

1
2

x
4

x
2

- 1
2 2
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Slope-Intercept Form
Instructions:  Determine the slope and y-intercept of each linear function below.  If the equation is 
not in “Slope-Intercept Form”, then rearrange it so it is.

AB-BLF 4

1 y = 4x + 7

7

4
Slope:

y-intercept:

3 y − 1 = -2x Slope:

y-intercept:

5 y = 7 − 3x Slope:

y-intercept:

7 5 + y = 1 + 2x Slope:

y-intercept:

10 y + x = 3 + x Slope:

y-intercept:

4 y = -x Slope:

y-intercept:

2 y + 2 = 5x

-2

5
Slope:

y-intercept:

−2

y = 5x - 2

−2

6 = x Slope:

y-intercept:

y
2

9 =  x + 1 Slope:

y-intercept:

y
2

8 = Slope:

y-intercept:

y
3

x
6
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Converting to Slope-Intercept Form
Instructions:  Convert each linear function into “Slope-Intercept Form” (y = mx + b).

AB-BLF 5

1

3

5 6

7 8

2

4

−4x −4x +x+x
y2y = -4x + 8  =  (5x − 6)(2)

y = 10x − 12y = -2x + 4

2
(2)

2 2 2

4x + 2y = 8

3y = 3 − 6x -2y = 6 − 1x

 = 4x − 6

− 4 = y + 3 = − 2y

− x

2(y − 3) = x + 10 (y − 3) = 4(x − 1)

y
2

x
3

x
5

y
2
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